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Bluetooth SPP-

| 2.1

Bluetooth SPP-
/
TeraTerm

CRLF(0x0D, 0x0A)
4

2.2.

< >< 1> ..< X><CR><LF>

< > ( sett)
< >
<CR><LF>

2.3.

OK NG

OK<CR><LF>
NG<CR><LF>

2.4.

»OK”

< > < ><CR><LF>

< >
< >
<CR><LF>




2.5.

< >< > HHMMSSmmm,[< >l
< > sens, adin
< > adin, rdin, evnt
HHMMSSmmm 24 23:59:59.999
24:00:00.000 99:59:59:999
[< >] (optional)
| 2.6

1 4 require
1 optional PIN AD
4 require 32
49
074233599999(49% 24x 60x 60
x 1000-1) 28
2xn optional 16
1 require (0xC1)
2.7. ( )
HHMMSSmmm
HH 2 00 23
MM 2 00 59
SS 2 00 59
mmm 3 000 999
HHMMSSmmm
47 +HHMMSSmmm
EXAMPLE

123000000 12:30:00.000
+003000000 30



| 2.8.

IC

(4233600000)
sett
23:59:59:999

99

49
(356400000)
RTC

msec / ( 24x 60x 60x 1000 )
(‘msec / (60x 60x 1000 )) % 24

= (msec / ( 60x 1000 )) % 60
= ( msec / 1000 ) % 60
= msec % 1000

S x 24+

)x 60+ ) x 60+ ) x 1000+

RTC

msec

49

2.9.

sett

setd

echo

stop

sniff

sniff

gtrm

gsensor

~ gsensor rate

g trm

mfsensor

memfmt

mem

memir

memr

memers

txtrg

ver

batt

sens

senb

9ys

gyb




ags
agb G ( )
mcts
mctb ( )
agmcts G
G
agmctb
g ( )
temp o
WAA-006
(]
3.
3.1 sett-
Bluetooth
Bluetooth Bluetooth
Bluetooth
sett
23:59:59:999
SYNTAX

sett HHMMSSmmm

HHMMSSmmm

RESULT
HOKH
HNGH

EVENT

EXAMPLE
18 24 20123

sett 182420123<CR><LF>
OK<CR><LF>

3.2. setd -

2099

SYNTAX
setd YYYYMMDD HHMMSSmmm

YYYYMMDD
HHMMSSmmm




RESULT
HOKH
HNGH

EVENT

EXAMPLE1
2011 3 3 14 25 20145

setd 20110303 142520145<CR><LF>
OK<CR><LF>

EXAMPLE2
2011 3 3

setd 20110303<CR><LF>
OK<CR><LF>

3.3. echo -

OFF

SYNTAX
echo [{on}off}]

on
off
RESULT
»OK”
“NG”
»OK”
Honn ”Off"

EVENT
EXAMPLE 1

echo on<CR><LF>

OK<CR><LF>
EXAMPLE 2

( )

echo<CR><LF>

echo: off

OK<CR><LF>




SEeNs

senb

gys

gyb

ags

agh

ms

m b

temp

RESULT

EVENT

EXAMPLE 1

”OK”

”OK"

HNGH

stop allxCR><LF>

OK<CR><LF>

EXAMPLE 2
senb

stop senb<CR><LF>

OK<CR><LF>

| 3.5. sniff - sniff

Bluetooth Specification v2.0+EDR

BASEBAND SPECIFICATION 8.7 SNIFF MODE

auto 200 32 1 8 ON/OFF
off - - - - OFF
<auto> sniff off
5 sniff on/off
sniff off sniff off
SPP - SPP auto sniff off

sniff




SYNTAX

sniff {autojoff};
off sniff
auto sniff ON/OFF
RESULT
llOKll
llNGll
EVENT
EXAMPLE 1
sniff
sniff off<CR><LF>
OK<CR><LF>
| 3.6. sens -
SYNTAX

sens [+]JHHMMSSmmm <interval> <count> <times>

[+]HHMMSSmmm

<interval> (1 60000)
<count> 1 127)
<times> (1 999999) 0 STOP
<interval> <count>

<interval> x <count>
<interval> <count>

<times> 0 STOP
interval=<n>

count=2 <time>

times=3 A

- N
<count> <count> <count>

T <interval> T <intervaI>T <interval> T <interval> T <interval> T




RESULT
”OK”
HNGH

EVENT

sens, HHMMSSmmm, <GX><GY><GZ>

sens
HHMMSSmmm
GX X ( mG)
GY Y ( mG)
Gz Z ( mG)
EXAMPLE 1
30 5 4
stop
sens +000030000 5 1 O<CR><LF>
OK<CR><LF>
30
sens, ,000120906,26,-4,-1021
sens, ,000120911,26,0,-1021
sens, ,000120916,22,1,-1019
sens, ,000120921,26,-1,-1023
3.7. senb -
sens
SYNTAX

senb [+]HHMMSSmmm <interval> <count> <times>

[+]JHHMMSSmmm
<interval> (1 60000)
<count> 1 127)
<times> (1 999999) 0 STOP
<interval> <count>
<interval> <count>
<times> 0 STOP



interval=<n>
count=2 <time>
times=3 A

<count> <count> <count>

T <interval>

—>
—»
—>

<intervaI>T <interval> <intervaI>T <interval>

RESULT
”OK”
HNGH

EVENT

4 “senb”

2x 3 16 X Y z

mG

1 (0xC1)

EXAMPLE 1
20 5 2
stop

senb +000020000 5 2 0<CR><LF>

OK<CR><LF>

20

<73> <65> <6E> <62> <00> <00> <51> <AF>
<FF> <DD> <FF> <EF> <FC> <2C> <C1> <73>
<65> <6E> <62> <00> <00> <51> <B9> <FF>
<DD> <FF> <EF> <FC> <35> <C1> <73> <65>
<6E> <62> <00> <00> <51> <C3> <FF> <DD>
<FF> <EF> <FC> <24> <C1> <73> <65> <6E>
<62> <00> <00> <51> <CD> <FF> <DD> <FF>
<F8> <FC> <3E> <C1>

3.8. gys -

SYNTAX
gys [+]JHHMMSSmmm <interval> <count> <times>




[+]HHMMSSmmm
<interval> (1 60000)
<count> (1 127)
<times> (1 999999) 0 STOP
<interval> <count>
<interval> <count>
<times> 0 STOP
interval=<n>
count=2 <time>
times=3 A
0 N
<count> <count> <count>

<interval> T <interval> T

—>

<interval> T <interval>

T <interval>

—>

RESULT
HOK11
llNGll
EVENT
gys,,HHMMSSmmm,<GYX><GYY><GYZ>

gys

HHMMSSmmm

GYX X ( 0.1dps)

GYY Y ( 0.1dps)

GYZ z ( 0.1dps)
EXAMPLE 1

30 5 4
stop

gys +000030000 5 4 O<CR><LF>

OK<CR><LF>

30




gys. 000020906, 05,14, 10
gys. 000020926, 18,49, 130

gys.,000020946,110,-22,182
gys. 000020966, 169, -24 , 162

13.9. gyb-
gys
SYNTAX
gyb [+]JHHMMSSmmm <interval> <count> <times>
[+]HHMMSSmmm
<interval> (1 60000)
<count> (1 127
<times> (L 999999) 0 STOP
<interval> <count>
<interval> x <count>
<times> 0 STOP
interval=<n>
count=2 <time>
times=3 A
- N
<count> <count> <count>

T <interva|>T <intervaI>T <intervaI>T <intervaI>T <interval>

—»

RESULT
”OK”
HNGH

EVENT

11



3 “gyb”
4
2x 3 16 X Y Z 0.1dps
1 (0xC1)
EXAMPLE 1
20 1 5
stop

gyb +000020000 1 5 0<CR><LF>

OK<CR><LF>

20
<67> <79> <62> <00> <00> <51> <AF> <00>
<01> <00> <03> <00> <10> <C1> <67> <79>
<62> <00> <00> <51> <B4> <00> <02> <00>
<01> <00> <08> <Cl1> <67> <79> <62> <00>
<00> <51> <B9> <FF> <DD> <FF> <EF> <FC>
<24> <C1> <67> <79> <62> <00> <00> <51>
<BE> <00> <06> <00> <03> <00> <00> <C1>

| 3.10. ags -

SYNTAX
ags [+]JHHMMSSmmm <interval> <count> <times>

[+]HHMMSSmmm
<interval> (3 60000)
<count> (1 127)
<times> (1 999999) 0 STOP
<interval> <count>
<interval> <count>
<times> 0 STOP

12



interval=<n>
count=2 <time>

times=3 A

<count> <count> <count>

—»

<interval> T <interval> T <interval> T <interval>

T <interval>

—>

RESULT
”OK”
HNGH

EVENT

ags, HHMMSSmmm <GX><GY><GZ><GYX><GYY><GYZ>

ags
HHMMSSmmm
GX X ( mG)
GY Y ( mG)
Gz z ( mG)
GYX X (___ 0a1dps)
GYY Y ( 0.1dps)
GYZ z ( 0.1dps)
EXAMPLE 1
30 5 4
stop
ags +000030000 5 4 O<CR><LF>
OK<CR><LF>
30
ags, ,000020906,26,-4,-1021,03,42,22
ags, ,000020926,26,0,-1021,15,47,49
ags, ,000020946,22,1,-1019,71,113,08
ags, ,000021006,26,-1,-1023,16,231,40
| 3.11. agb -

ags

13



SYNTAX
agh [+]JHHMMSSmmm <interval> <count> <times>

[+]HHMMSSmmm

<interval> (1 60000)

<count> (1 127)

<times> (1 999999) 0 STOP
<interval> <count>

<interval> <count>
<times> 0 STOP
interval=<n>
count=2 <time>
times=3 A
- N
<count> <count> <count>

>

T <intervaI>T <intervaI>T <intervaI>T <intervaI>T <interval> T

RESULT
”OK”
llNGll

EVENT

3 “agb”
4
2 x 3 16 X Y VA mG
2 x 3 16 X Y Z 0.1dps
1 (0xC1)
EXAMPLE 1
20 5 1
stop

agb +000020000 5 1 0<CR><LF>

OK<CR><LF>

20

14



<61> <67> <62> <00> <00> <51> <AF> <FF>
<DD> <FF> <EF> <FC> <2C> <00> <01> <00>
<02> <00> <02> <C1> <61> <67> <62> <00>
<00> <51> <B4> <FF> <DD> <FF> <EF> <FC>
<35> <00> <01> <00> <05> <00> <09> <C1>
<61> <67> <62> <00> <00> <51> <B9> <FF>
<DD> <FF> <EF> <FF> <DD> <00> <01> <00>
<03> <00> <07> <C1> <61> <67> <62> <00>

3.12. mfsensor-

SYNTAX
mfsensor cal <s><calsec>

<S>
s
<calsec> (8 30)
(8 )
RESULT
"OK"
llNGll
’IEND”
EVENT
EXAMPLE1
|
mfsensor cal <CR><LF>
SX=577 SY=-203 SZ=1154
OK<CR><LF>
END
| 3.13. mcts -
SYNTAX

mcts [+]HHMMSSmmm <interval> <count> <times>

[+]HHMMSSmmm

<interval> (20  60000)

<count> 1 127)

<times> (1 999999) 0 STOP
<interval> <count>

15



<interval> x <count>

<times> 0 STOP
interval=<n>
count=2 <time>
times=3 e N
- N
<count> <count> <count>

T <intervaI>T <intervaI>T <intervaI>T <intervaI>T <intervaI>T

>

RESULT
»OK”
“NG”
EVENT
mcts
HHMMSSmmm
Hx X ( 0.4p T)
Hy Y ( 04p T)
Hz YA ( 04p T)
EXAMPLE 1
20 20
stop
mcts +000020000 20 1 O<CR><LF>
OK<CR><LF>
20

mcts, ,113634448,-105,-40, 14
mcts, ,113634468,-105,-39,13
mcts, ,113634488,-106,-41,7
mcts, ,113634508,-104,-41,17
mcts, ,113634528,-105,-40, 14
mcts, ,113634548,-104,-41,11
mcts, ,113634568,-103,-37,13

16




3.14. mc b -

SYNTAX

m th[+]HHMMSSmmm <interval> <count> <times>

[+]HHMMSSmmm
<interval> (20  60000)
<count> 1 127)
<times> (1 999999) 0 STOP
<interval> <count>
<interval> x <count>
<times> 0 STOP
interval=<n>
count=2 <time>
times=3 A
- N
<count> <count> <count>

T <intervaI>T <intervaI>T <intervaI>T <intervaI>T <interval>

T

llOK11
llNGll
EVENT
4 “mctb”
4
2 x 3 16 X Y Z ( 04uT)
1 (0xC1)
EXAMPLE 1
20 20 1

stop

17




mctb +000020000 20 1 O<CR><LF>

OK<CR><LF>

20

<FE>
<63>
<F2>
<74>
<FF>
<62>

<FO>
<74>
<FF>
<62>
<8E>
<02>

<6D> <63> <74> <62> <02>

<FF> <8D> <FF>
<62> <02> <94>
<8B> <FF> <B6>
<02> <94> <4D>
<FF> <B6> <C1>
<94> <4D> <23>

<94>
<B3>
<4C>
<C1>
<OF>
<6D>
<FF>

<4C>
<C1>
<FB>
<6D>
<FF>
<63>
<F0>

<E7>
<6D>
<FE>
<63>
<FE>
<74>
<FF>

\ 3.15. agmcts -

SYNTAX
agmcts [+]JHHMMSSmmm <interval> <count> <times>
[+]HHMMSSmmm
<interval> (20  60000)
<count> (1 127)
<times> (L 999999) 0 STOP
<interval> <count>
<interval> x <count>
<times> 0 STOP
interval=<n>
count=2 <time>
times=3 A
- N
<count> <count> <count>

T <interval>

T

<interval> T <interval>

T <intervaI>T <interval>

T

RESULT

EVENT

»OK”

“NG”

18
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agmcts

HHMMSSmmm

GX X ( mG)

GY Y ( mG)

Gz z ( mG)

GYX X ( 0.1dps)

GYY Y ( 0.1dps)

GYzZ z ( 0.1dps)

Hx X ( 04p T)

Hy Y ( 04u T)

Hz Z ( 0.4p T)

EXAMPLE 1
20 20
agmcts +000020000 20 1 0<CR><LF>
OK<CR><LF>
20
agmcts, ,124906299,7,-7,898,32,-36,-26,-251,63,219,
agmcts, ,124906319,-3,-3,886,32,-37,-27,-254,62,222,
agmcts, ,124906339,0,-3,910,33,-38,-27,-251,65,221,
agmcts, ,124906359, 3,-3,886,32,-35,-25,-252,63,218,
agmcts, ,124906379,7,0,894,32,-31,-26,-252,63,216,
agmcts, ,124906399, 3,-3,890, 34,-36,-28,-250,63,219,
3.16. agmctb -
SYNTAX

agmcstb[+]HHMMSSmmm <interval> <count> <times>

[+]HHMMSSmmm
<interval> (20  60000)
<count> (1 127)
<times> (1 999999) 0 STOP
<interval> <count>
<interval> x <count>
<times> 0 STOP

19



interval=<n>
count=2 <time>
times=3 A

<count> <count> <count>

T <interval> <interval>T <intervaI>T <intervaI>T <intervaI>T

—>

»OK”
“NG”

EVENT

6 “agmctb”

2 x 3 16 X Y z mG

2 x 3 16 X Y z 0.1dps

2x 3 16 X Y z 0.4p

EXAMPLE 1

20 1 5
stop

agmctb +000020000 20 1 O<CR><LF>

OK<CR><LF>

20

<61> <67> <6D> <63> <74> <62> <02> <(C8>
<C3> <07> <00> <03> <FF> <FD> <03> <7A>
<00> <1B> <FF> <E1> <FF> <E8> <FE> <F4>
<00> <40> <00> <D2> <C1> <61> <67> <6D>
<63> <74> <62> <00> <C8> <C3> <2F> <00>
<03> <FF> <FD> <03> <6E> <00> <15> <FF>
<D6> <FF> <E7> <FE> <F4> <00> <40> <00>

3.17. temp -

-25 75
+ 25

20



SYNTAX

temp [+]HHMMSSmmm <interval> <count> <times>

[+]HHMMSSmmm
<interval> (2 60000)
<count> (1 127)
<times> (1 999999) 0 STOP
<interval> <count>
<times> 0 STOP
RESULT
JJOK!!
!lNG!I
EVENT
AD AD

temp,, HHMMSSmmm,<temp>

temp
HHMMSSmmm
<temp>

0.1

EXAMPLE 1
20 500

60

temp +000020000 500 2 60<CR><LF>

OK<CR><LF>

20

temp, , 002409590, 260
temp, , 002410590, 260
temp, , 002411590, 260

| 3.18.
XYZ 3

gtrm -

SYNTAX
gtrm <X><Y><Z>

<X><Y><Z> G + 1G

W N P O

4
<interval> 5ms <count> 100 <times> 1

21



RESULT

"NG"
”OK"

gtrm G
<X> X G
<Y> Y G
<Z> Z G
EVENT
EXAMPLE

X Y 0Gc <z 1G

gtrm 0 0 1<CR><LF>
gtrm:32,50,-45<CR><LF>
OK<CR><LF>

| 3.19. gsensor-

SYNTAX
gsensor <R>

<R>
0+£2G
1+ 4G
2 +8G
3 + 16G
RESULT
!lOKll
!lNG!I
EVENT
EXAMPLE1
+ 4G
gsensor 1<CR><LF>
OK<CR><LF>
EXAMPLE2
+ 4G

22



gsensor 1 s<CR><LF>

OK<CR><LF>

| 3.20. gsensor rate-

0 12 400Hz
SYNTAX
gsensor rate<M><R>
<M>
0 0
1
<R> Bandwidth
rate_ Bandwidth(Hz)
15 OxOF 1600
14 OxOE 800
13 0x0D 400
12 0x0C 200
11 0x0B 100
10 Ox0A 50
9 0x09 25
8 0x08 125
7 0x07 6.25
6 0x06 3.125
RESULT
llOKll
llNGll
EVENT
EXAMPLE1
gsensor rate <CR><LF>
rate register : LowPower=0 rate_idx=0x0F
OK<CR><LF>
EXAMPLE2
800Hz
gsensor rate 0 13<CR><LF>
OK<CR><LF>
\ 3.21. g trm -
XYzZ 3
SYNTAX

gytrm sens <X><Y><Z>

23




<X><Y><Z> Y dps
0 dps

<interval> 5ms <count> 100 <times> 1

RESULT

»NG”
»OK”

gtrm G
<X> X 0.1dps
<Y> Y 0.1dps
<Z> z 0.1dps
EVENT
EXAMPLE

X Y Zz Odps

gytrm sens 0 0 0<CR><LF>
offsetx : 23, offsety : -37, offsetz : -57<CR><LF>
OK<CR><LF>

3.22. memfmt -

SYNTAX
memfmt exec

“

RESULT

»oK”
“NOFMT”

EVENT

EXAMPLE

memfmt exec<CR><LF>
OK<CR><LF>

| 3.23. mem -

ON/OFF

24



SYNTAX
mem <mode>{nd}

<mode> 0 Bluetooth
1 Bluetooth
2 Bluetooth
3
4 Bluetooth
nd
mode LED 0341 2 23
360,000
10ms 100Hz 60
[ 1
1 { 2
s 3,000
360,000 <
8 119
\ { 120
1
1 3
1 1 30
3,000 1
" 1
8 1 120
120 1 3000
3,000
mem 3 4
UsB
WAA-010 user
RESULT
=K
“NG”

25



EVENT

EXAMPLE 1
ON ( )
mem 1 <CR><LF>
OK<CR><LF>
EXAMPLE 2
Bluetooth
mem 2 <CR><LF>
OK<CR><LF>
EXAMPLE 3
Bluetooth
mem 2 nd<CR><LF>
OK<CR><LF>
EXAMPLE 4
mem 3 <CR><LF>
OK<CR><LF>
EXAMPLE 5
Bluetooth
mem 4 <CR><LF>
OK<CR><LF>
| 3.24. memlr -
SYNTAX

memlr {free}

free

RESULT
=oK™
“NG”

EVENT

EXAMPLE 1

26



meml r<CR><LF>

OK<CR><LF>
EXAMPLE 2
2
1
meml r<CR><LF>
mem entry 1
13:29:58.797 [ags +000000000 5 1 1000 1000
mem entry 2
13:28:53.009 [ags +000000000 10 1 2000 2000
OK<CR><LF>
EXAMPLE 3
2
1
meml r<CR><LF>
mem entry 1
13:53:11.997 [sens +000000000 5 1 10000 10000
mem entry 2
13:49:46.790 [ags +000000000 5 1 3500 3500
mem entry 3
13:46:54.993 [sens +000110000 5 1 1000 1000
mem entry 4
13:46:02.197 [gys +000000000 5 1 2000 2000
mem entry 5
13:29:58.797 [ags +000000000 5 1 1000 1000
mem entry 6
13:28:53.009 [ags +000000000 10 1 2000 2000
mem entry 7
13:18:48.890 [sens +000000000 5 1 1000 1000
mem entry 8
13:09:57.746 [gys +000000000 10 1 500 500
OK<CR><LF>
EXAMPLE 4
memlr free<CR><LF>
mem free:2 entry 22 block (77000 rec)
OK<CR><LF>
3.25. memr -
SYNTAX
memr <List>
<List>

27




RESULT
lloKll
llNGll

EVENT

EXAMPLE
meml

memr 1<CR><LF>

sens, ,000020906,26,-4,-1021
sens, ,000020911,26,0,-1021
sens, ,000020916,22,1,-1019
sens, ,000020921,26,-1,-1023

0K

3.26. memers -

SYNTAX
memers <No.>

<No.>

RESULT
"OK"
llNGll

EXAMPLE 1

memers<CR><LF>

OK<CR><LF>

EXAMPLE 2

memers 2<CR><LF>

OK<CR><LF>

3.27. txtrg -

BD
sens senb gys gyb ags agb

SYNTAX
txtrg <BDaddress> [+]HHMMSSmmm <XYZmG> <XYZ 0.1dps>

28



<BDaddress> BD

[+]HHMMSSmmm

<GX> + mG

<GY> + mG

<GZ> + mG

<GYX> + 0.1dps

<GYY> + 0.1dps

<GYZ> + 0.1dps

<000000000> <n>
OR
RESULT
lloKll
llNGll

EVENT
EXAMPLE 1

txtrg 000942000999 123000000 n n n n n n<CR><LF>

OK<CR><LF>

sens +000000001 10 10 O<CR><LF>

OK<CR><LF>

sens, ,123001285,26,-4,-1021
sens, ,123001295,26,0,-1021
sens, ,123001305,22,1,-1019
sens, ,123001405,26,-1,-1023

EXAMPLE 2

txtrg 000942000999 230000000 n 2000 n n n n<CR><LF>

OK<CR><LF>

sens +000000001 10 10 O<CR><LF>

OK<CR><LF>

sens, ,123001285,26,-10,-1021
sens, ,123001295,26,0,-1021
sens, ,123001305,22,1,-1019
sens, ,123001405,26,-1,-1023

29




A interval=<n>
count=2 <time>
times=3 A

<count> <count> <count>

T <intervaI>T <intervaI>T <interval>T <intervaI>T <intervaI>T

3.28. ver -
SYNTAX
ver
RESULT
llOKll
llNGll
EVENT
EXAMPLE
ver<CR><LF>
verWAA010-1.0.0<CR><LF>
OK<CR><LF>
3.29. batt -
SYNTAX
batt
RESULT
“volt X.XX”
llNGll
EVENT
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EXAMPLE

batt<CR><LF>

volt: 4.10<CR><LF>

4.
MIN TYP MAX
3 InvenSense  ITG-3200
X 30 33 36 kHz
Y 27 30 33
Z 24 27 30
17 kHz
14.375 LSB(° /s)
Ta= -6 +6 %
+ 40 ° /s
VDD=3V,Ta=25 + 40 ° /s
-2000 2000 ° /s
Ta= 0.2 %
2 %
-30 +85
280 LSB/
1
35 -132 LSB
MIN TYP MAX
3 ANALOG DEVICES ADXL345BCCZ
A Ranges 10 Bits
Range =+ 2g 10 Bits
Range =+ 4g 11 Bits
Range =+ 8¢ 12 Bits
Range = 169 13 Bits
Range + 2g 10Bit 35 3.9 43 mg/LSB
Range * 4g 10Bit 7.0 7.8 8.6 mg/LSB
Range + 8g 10Bit 14.0 15.6 17.2 mg/LSB
Range =+ 16g 10Bit 28.1 31.2 343 mg/LSB
T=25 +75 %
+ 90 %
g XY -150 + 40 150 Mg
z -250 + 80 250 Mg
XY + 08 mg/
z + 45 mg/
+ 0.1 %
+ 05 %
XY 100Hz * 2g 1.0 LSBrms
z 100Hz + 2g 15 LSBrms
12 kHz
10,000 g
19g=9.81m/s?
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MIN TYP MAX
YAMAHA YAS529

2 -300 300 uT

: : 0.6 M T/count

: 12 M T/count
= 5 deg

143-0023
3 10

info@wireless-t.jp
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